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CASE 6T

SIS
. EYHEWN
. BIFRBRTIRE
. BHM¥THEZE 2500 volts
. BAEdV/dt
. EEER
R e 1 0 4 8 (E
s | VRRM (D | VDRM (1) | VRsm (1) .
2200 2200 2200 2300
2500 2500 2500 2600 (1) 50Hz/60zHzIF 3% % 43 JE Y5 H 40 to+115 °C.
VirMm = }i ﬁ EEH&%E H:_Uj—i g; r][‘O m?icsﬁlojéﬁ
Viru =1F [1) WA HL R ) - . . o
; (4)67 %A I VDRM T TFi#% . Tj=115°C.
Vrsm = [ A ANFL S AR HL R (2) 5 4<ﬁ)’§;{ﬁ .
(O LR B TH% di/dt FRHEEIA/NIMA FRr#ERS-
- N 20 mA 397, Section5-2-2-6.5% X J %1
Eﬁ%uﬁﬁigﬂpﬁfﬁtﬁy}lh IRRM/IDRM 100 mA (3)
s b T 2R 0 (. dv/dt (4) | 500 V/psec
Z H 5 | mAME SN AR, | AT % M
WA T LI Irav) 2500 A | SINE,180° FilAMT=55°C
TS T AR Itrms 3925 A
[N 10 msec (50Hz), 1E3%¥%E, 180°F
N=R Nraoy ) s
AN ST IRV R Trsm 38000 A AT - 115 °C
Pefl It 7220000 A% | 10msee
AR I 1000 mA | Vo =24 V;Ri=12 ohms
YRR Iy 500 mA | Vp-24V;1=25A
W0 5 T e Vi 25 1.95 v | Im=3000A; Tj=25°C
ML BT (5, 6) di/dt 800 Alps AER
it 1T} %(6) di/dt 400 ans | B2
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Fl e M 2 S KK2500= 2200~2500 VI & 5 [
~s
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I TR
. T | BME | BOE | MR | A % s
WA T T ARRE B 2% Pou 200 w | 5=40us
S IRAE R % Pgav) 5 W
Vp =6 V;RL =3 ohms;T; =-40 °C
300 mA | Vp=6 V;R, =3 ohms;Tj=+25
I AR Al A LR Ior 200 mA | °C
125 mA | Vp=6 V;R. =3 ohms;T; =
+115°C
Vp =6 V;Ry =3 ohms;T;=-40 °C
Vp =6 V;R =3 ohms;T;=0-
> Vol s
YR s Vor 0.30 4 X Vp = Rated Vpry; R = 1000
’ ohms;
T,=+115°C
[ a EE HE Verm 20 Vv
FF o< B[]
. g | ME | OE | mRE. | AT % F
ITM =50 A, VD =67% VDRM
TF 3 i 1) ta 1.2 0.9 us | FIAREKMP: V=30 V; Rg = 10
ohms; t. = 0.1 ps; t, = 20 us
It > 2000 A; di/dt =25 A/us;
NN . Vi >-5V; TEIHE dVv/dt=
T S [ h =- ’
HRIHT] (with Ve =-5 V) fa 70 50 B 1 30V/us linear to 67% Vg ;
T;= 115 °C; Duty cycle > 0.01%
o It > 2000 A; di/dt = 50 Alus;
ik P ™ N US;
}im U(EH:_‘A{}IL Irr 400 A VR > _50 V, T]' — 125 OC
HRe AL T
. 5 | AME | BOKE | R | g % s
4 T, -40 +125 °C
AR Tyig -40 +150 °C
gl e Ro (o) 0.012 °C/W | XL
T HUHAPH Ro (cs) 0.001 °C/W | BUELV A
. 8000 10000 1b.
2 »
KAL) P 35.5 44.4 KN
. 3.5 Lb.
T W 150 | Kg.
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